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OLOGY Intermediate Part-II , Class 12™ (1%A 423. I) Paper: II Group -1
Time: 20 Minutes OBJECTIVE ..... Code:; 8461 y“.—— J2 /=23 Marks: 17

Note: You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result in zero mark in that question.
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Aldosterone is secreted from
(A) _renal cortex (B) adrenal cortex (C) renal medulla (D) adrenal medulla

Which of these move first during rapid plant movements leading to exosmosis of water?
(A) K*'ions (B) ClI''ions (C) Na''ions (D) NH]'ions

Number of bones in the human skull is

(A) 22, 6 paired, 10 unpaired (B) 22, 4 paired, 14 unpaired

(C) 22, 8 paired, 6 unpaired (D) 22, 10 paired, 2 unpaired

Which of these hormones is used commercially in brewing industry to promote malting

(A) GA (B) GA3 (C) NAA (D) 24-D

Which of these pituitary hormones control pancreas?

(A) STH and TSH (B) ACTH and TSH (C) ACTH and STH (D) ACTH and ADH

Zygote is implanted in

(A) ovary c (B) vagina (C) oviduct (D) uterus
Apical dominance in plants
(A) suppresses the growth of apical bud (B) causes dense growth of plants

(C) suppresses the growth of lower axillary buds (D) promotes the sprouting(of lateral axillary buds

The enzyme DNA ligasc

(A) constructs RNA primer (B) initiates the replicationof DNA

(C) catalyzes the replication of DNA (D) attaches the.fragments to the lagging strand
In sickle cell anemia, the oxygen carrying capacity of haemoglobin is reduced because

(A) tertiary structure of haemoglobin is altered  (B) primé@gy structure of haemoglobin is altered
(C) secondary structure of haemoglobin is altered (D), haemaglobin is completely destroyed

Phragmoplast during cytokinesis in plant cells is forméd by the fusion of golgi vesicles which
originate during

{A) prophase (B) metaphase (C) anaphase (D) telophase
Which of these indicates the phenotypic ratio of diliybrid cross?

(A) 1:1:1:1 (B) 9:3:3:1 (C) 1:2:1 (D) 3:1

The enzyme involved in the matufation®f Tsand B cells in children is

(A) o — galactosidase (B) B — galactosidase

(C) adenosine hydrolase (D) adenosine deaminase

Protoplast culture yields

(A) virus free plants (B) many identical seedlings in a limited space
(C) artificial seeds (D) quinine and digitoxin

Hardy-Weinberg’s theorem describes the

(A) lamarckism (B) descent with modification

(C) natiiralselection and adaptation (D) genotype frequency of non-evolving populations

Primary fuccession on a dry soil is called

(A)‘derosere (B) xerosere (C) halosere (D) hydrosere
The most fragile biome is

(A) tundra (B) desert (C) deciduous (D) grassland
Which one is a hormonal disorder?

(A) arteriosclerosis (B) haemophilia (C) alzheimer (D) goiter
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Time: 2:40 Hours SUBJECTIVE Marks: 68
Note: Section | is compulsory. Attempt any THREE (3) questions from Section II

SECTION -1 '&c’y/‘,-r; 2-/—23

2. Write short answers to any EIGHT questions. - (2x8=16)

i
ii.
iii.
iv.

V. Differentiate between hyaline and elastic cartilage.
vi.  Define callus and describe its importance.
vii.  In which way sertoli cells support reproduction?
viii.  Why testosterone is important for reproduction?
ix.  Differentiate between limnetic and profundal zone.
x.  Name four major ecosystems in Pakistan.
xi.  What is ozone? Give its importance.
xii.  Define soil and give its basic constituents.
3. Write short answers to any EIGHT questions. 2x8=16)
i Define diurnal rhythms. How they are different form circannual rhythms?
ii. Compare sympathetic with parasympathetic nervous system.
iii.  How etiolation differs from chlorosis?
iv.  Workout all possible types of gametes from the individual having genotype “AaBbCe”.
V. What do you know about the dominance relations among multiple alleles of “ABO”bloed group system?
vi.  What are the limitations of Mendelian law of independent assortment?
vii.  Describe the term “Gene Pharming”.
viii.  Why biotechnology is important for humans?
ix.  How to get the gene of interest?
x.  Differentiate between Autecology and Synecology.
xi.  Define mutualism. Give example.
xii.  What do you know about the biotic components of an ecogystem?
4. Write short answers to any SIX questions. 2x6=12)
il Differentiate between morulla and blastula.
il. Define regeneration, also write down two examples.
iii.  What is point mutation? Give one examples
iv.  Define phosphodiester bond, also draw it.
v.  What are chromosomes? Also Write down fillmber in man and mouse.
vi.  What is mitotic apparatus? Wite down its function.
vii.  Compare kinetochore thicrotubulg with polar microtubule.
vili. What are hydrothermal vént? How did they support life?
ix.  Define homologobs'organ, give one example.
SECTION -1
5, (a) Describe the adaptationin plants to low and high temperature.
(b) Describe thie stagesof karyokinesis of mitotic cell division.
6. (a) Wiife down different types of plant movements due to external causes and also describe their importance.
(b) Definefuccession. Write down different stages of xerosere in detail.
7. (a) Why isanterior lobe of pituitary gland referred as Master Gland? Explain how does anterior lobe control
thyroids, adrenals and gonads?
(b) Write down a note on endangered specics. How they can be protected?
8. (a) Explain the male reproductive system in human.
(b) Describe the mechanism of incomplete dominance with an example.
9, (a) Define meristem. Discuss its various types.
(b) What is polymerase chain reaction (PCR)? How it is carried out to produce

For what purpose, leaves have large surface area?

Why dehydration is the major problem for terrestrial animals?
How can you avoid making of kidney stones?

Which tissues arise from vascular cambium?

multiple copies of DNA segment? _
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